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TNPSC PRELIMINARY
APTITUDE AND MENTAL ABILITY MERIT TEST - II

1. If a, b, c are lengths of 3 sides of a right angled triangle whose largest side is c then the
relation satisfied is
a.a?2+b2+c2=0 b.a+b=c
c.a2=2bc d.a?+b?-c2=0
a, b, c eeiue @ CFEBHTeWT (PECHTEMSHH T (PITW  LIGBBIBET 6ldD  SleuBmleT Gl
USSBID C aTerayld ST SpSHHemiL. OHTLTLHeM6e0 o1& Filuimeg)?
a.a?2+b2+c2=0 b.a+b=c
c.a2=2bc d.a?+b?-c2=0
Explanation: Option d is correct.

a’+b’=c’ (Pythagorean Theorem)

2. (4.59><1.8+3.6+5.4a‘> é s 3 &1 WALy

a. 4.685 b. 2.695 c.3.259 d. 2.596
(4.59><1.8+3.6+5.4of 1\ 1) is
9 5

a. 4.685 b. 2.695 c.3.259 d. 2.596
Explanation:
(4.59XE+£5.4XEJ_1]

36 9) 5

- 4'—59+O.6—0.2

= 2.295+0.4=2.695

3. Two partners invest Rs. 12,500 and Rs. 8,500 respectively in a business.
If one partner gets Rs.300 more than the other in the profit, what is the total profit?
a. Rs. 1,475 b. Rs. 1,575 c. Rs. 1,675 d. Rs. 1,570
QM alwTUTISHSHe0 @Jewih UmIGSTITHen (wempGui ep. 12,500 wwBmid p. 8,500 (PpHeS®
CFUISBTIH6NT. DIHD @H LBIGSTIT LBOBTH URGSTIDT STLIQEID &eoTushded . 300
SIFBD OUBIFBTT eTerlled OOTHSH EevTLd OCFHTend  6T6sTenr ?

a. em. 1,475 b. em. 1,575 c. em. 1,675 d. es. 1,570
Explanation:

L=




Investment Ratio = 25 : 17 Total Investment =25 + 17 =42
Difference in Profit Amount [25 - 17] = 8 Unit= 300

Total Investment = 3%0 x 42 =Rs1575

. Simplify
(x—8)(x* +5x—50)
(x+10)(x* —13x + 40)

a. x—8 b 1 c.1 g, x=10
X—9 x+10

F(HdHGHD

(x—8)(x* +5x—-50)

(x+10)(x* —13x + 40)

a. x—8 b 1 c. 1 g x=10
X—5 x+10

Explanation:

(x—8)(x* +5x—50) _ (x—8)(x+10)(x—5) 7
(X+10)(x> —13x+40)  (x+10)(x—5)(x—8)

. The area of rectangle 8lcm long is same as that of a square having each side 54cm long.
The width of the rectangle is...

a. 54cm b. 36cm c. 40cm d. 26cm
81 Qa5 membd O&HTWIL @ OCFalausHHen UTLL6TEY, 54 GFS UHHD CFBTWIL @IH FHITHIH 6
UTLILIETeYS@E FIDITS 2 6Tl 61afled SbhH CFeIMIBHH T OIH6VD 61636017

a. 54 Qg5 b. 36 Gg15 c.40 Q&6 d. 26 Qz15
Explanation:
Area of rectangle = Area of Square

Ixb = a°

 54x54

8lxb = 54x54 = b 36¢cm

. The cost of fencing a circular plot at the rate of I 15 per metre is ¥ 3300. What will be the
cost of flooring the plot at the rate of I 100 per square metre?

a.< 3,85,000 b. ¥ 2,20,000 c.< 3,50,000 d. < 2,20,000

PBm AL eaugel Hedmdps FBPiaid Gaied SEWILFSBEG @ W LGBEG X 15aiH5HH0 I

3300 SLFmI. Obd HHHBEG SHOJ SOWILUSBSG @ F&HJ BULHBHSG [ 100 6
aipHHe0 eeileuene) GFeva| SLGWD?
a.< 3,85,000 b.< 2,20,000 c.< 3,50,000 d.< 2,20,000




perimeter of a circle = 277

27wr % 15 = 3300

3300 110
= P = =
2w 15 T
= 110 = 35 meter
(%)
7
Area = 712

Cost of flooring the plot at the rate of Rs. 100 per square meter
= 7r? % 100

29
= 357 % 100 = Rs. 385000

7. Two cylindrical pots contain the same amount of water. If their base diameters are in the
ratio 2:3, the ratio of their heights is
a.2:3 b.9:2 c.9:3 d. 9:4
BrewiB 2 (Hewem ealged  LTenedideT @CF ojemeuret SHewiewiengd  ComeaniheTener. Sieumnler
SUUTESHE Ll 23 6B  aldssded SmpHITL, DBl 2 WIThISEHHG
®enL Cuiwimer all&lsLb :
a.2:3 b. 9:2 c.9:3 d. 9:4

Explanation: Diameters are in the ratio 2:3 = Radius ratio =1 g

3Y 9
7Z'rl2h1 =7ZI’22h2 f— (1)2 h1 :[E) h2 f— hiz:z
8. The sum of the interior angles of a Hexagon is

a. 360° b. 240° c. 720° d. 180°
Qb PWEG SBECaTansHHar o L Caren ojene|sellear gnbHe0 wnh?
a. 360° b. 240° c. 720° d. 180°

9. If x=+/2-+/3 then 2
1( 1} 1
a. =| x+= b. =
2 X 2

X:ﬁ—ﬁ 6160160 \/5 6TEUTLIG

a. l(x+lj b. l(x—lj C. l(l—x) d. x—1
2 X 2 X 2\ X X

Explanation: x=+2-3




1.1 2+ _2+B_2+B__ 5 5
X 2-3 2+3 2-3 -1

x—2=(V2-B)-(~V2-\B) - 242
1 1 1
X—;=2xﬁ = 2 = E(X__)

X

10. A trader mixes 26 kg of rice at Rs. 20 per kg with 30 kg of rice of other variety at Rs. 36
per kg and sells the mixture at Rs. 30 per kg. His profit percent is:

a. No profit, no loss b. 5% c. 8% d. 10%

QH BOLGIMT Sl BHbHS .20 SILdd alemeoujeren 268G  ofifenwiujd. 536
SILES  alemeoufeiiemn 30 HGeom  oflFemwiud aimTE  HevhH  HCeor h.305G AIBBTED
DIUHBEG SHMLSHGLD OTUSSHE FHATHLD 6levT60r?

a. @eoru(pld Bevenev, HLL (P B60en6V b. 5% c. 8% d. 10%

Explanation
C.P. of 56 kg rice = Rs. (26 x 20 + 30 x 36) = Rs. (520 + 1080) = Rs. 1600.

S5.F. of 36 kg rice = Rs. (596 x 30) = Rs. 1680.

a0
“ Gain= | —— x100 % = 5%.
1600

11.P can complete a work in 12 days working 8 hours a day. Q can complete the same work

in 8 days working 10 hours a day. If both P and Q work together, working 8 hours a day,
in how many days can they complete the work?
P aemeum @ mrewensd 8 wenll Gprb Gaiewev OFUIs @p GBIULILL  Gsausmevenur 12
BTefled OFUIGH  APQLILITIT. 918 Gaumevenuwt Q e@LT @ BTemendh@ 10 wewil GHyLD
Gouemev GlFuiIgk 8 mTefled OauIgk wWRUUTT.  euTHeT @ meurmd Gabdl @ HTmensE 8
wenll GBI Gouenev GFUISHTEL aiHSHemean BT Haled HbHSH Gouenevenwtd OCFUIZHI (PQLILITTSET?

a. 5i b. 5E C. 6i d. 6E
11 11 11 11
EXplanation

P can complete the work in (12 x 8) hrs. = 96 hrs.

Q can complete the work in (8 x 10) hrs. = 80 hrs.

1 1
* P's1 hour's workk = — and Q's 1 hour's work = —.
o6 a0

1 1 11
(P+Q)s1hourswork= | — + —| = —.
96 80 480

480
S0, both P and Q will finish the work in [TJ hrs.

480 1 60 5
. Number of days of 8 hours each = =1 Y8l days = 5; days.

L=




12.Sakshi can do a piece of work in 20 days. Tanya is 25% more efficient than Sakshi. The
number of days taken by Tanya to do the same piece of work is:

a. 15 b. 16 c. 18 d. 25

gnédagd o Geusmevemws 20 BT &eMed (pUUTT. SHewnaler Gealemev OFUILID  SHmeTerg)
gribadeowl ol 25% oFHsb eafed D8FH Boaumevenl HETLT SHINWTEH  6IHHMET  [HT6N60
wpIgLirmir?

a. 15 b. 16 c. 18 d. 25

Explanation
Ratio of times taken by Sakshi and Tanya =125:100=5: 4.

Suppose Tanya takes x days to do the work.

4% 20
5:4220:x —=x=

5

— x = 16 days.

Hence, Tanya takes 16 days to complete the work.

13. A pupil's marks were wrongly entered as 83 instead of 63. Due to that the average marks
for the class got increased by half (1/2). The number of pupils in the class is:

a. 10 b. 20 c. 40 d. 73

(b LomewTeuefied LOGHIGOU6RT 63 CIELUSBSLI UFHeoTH 83 6laiill HaUBIGHeoTH LHe| GFuiwiul (b
alBPma. B sMyauiord, OHd Gl gyref  wHLGLem ey (1/2) oleneybEs
FBHTH aBABH.  SDbS AUGLILID 2 6iT6N OTERTEUTSH6N6IT  6T6mT 6w & enb:

a. 10 b. 20 c.40 d.73

Answer: Option €

EXplanation

Let there be ¥ pupils in the class.

1 X
Total increase in marks = [x X EJ = 5

X X
© 5 7(83-63) = =20 = x=40.

14. A person borrows Rs. 5000 for 2 years at 4% p.a. simple interest. He immediately lends it

to another person at 6% % p.a for 2 years. Find his gain in the transaction per year.

a. Rs. 112.50 b. Rs. 125 c. Rs. 150 d. Rs. 167.50

@Mm [BUT  H5000 OCpTmsmw ibsG 4 alpssT® FTHent el  aihHHe0 2
AMBBEHHGH ST CUBISBTT. o Langund SeuT DHSL LIHmSH DO BL(HHEG
AMBHHG 6% alpsaTh el aisdHed 2 MIbGIEHSGH OBTHEHBMIT. Ot
ufliomBpSHSHET  UTUIITS  DIU(HSHE @MH SLEWIYED 616IAIeTE| EEUTLILD HlenLSHGD  6TaILmSHD
SHeWT(BLNG HHELD.

)




15.

16.

17.

a. Rs. 112.50 b. Rs. 125 c. Rs. 150 d. Rs. 167.50

o 25 2 a000 x4 x2
Gainin 2 years =Rs. | | 5000 x — x -
4 100 100

= Rs. (625 - 400)

= Rs. 225

o 225
<. Gainin 1 year = Rs. - | = Rs. 112.50

The effective annual rate of interest corresponding to a nominal rate of 6% per annum
payable compounded half-yearly is:

a. 6.06% b. 6.07% c. 6.08% d. 6.09%

MIBHGH 6 FHAIHD 6IHB FTHMTeW QLY aIHHHHGH DTS D] UTBHE 6(hH
(wemB Sl B el aiHHH0 H PWBHSG IHHM FHAIFHD allly GFaishsiir GeuewrBLd?

a. 6.06% b. 6.07% c. 6.08% d. 6.09%
Explanation:
X+ y+M:>3+3+ﬁ:6.09%

100 100

If compound interest on a certain sum for 2 years @ 5% p.a. is ¥ 328, the simple interest
will be?
a.¥300 b.¥310 c.¥320 d.¥325

QM GUUUILL OTmsadsEd 2 AMIGEEHSGH, MBS S5 S50  SlgliLienL uiled
CFHFHILBLD Gl B aUlly H.328 6Tedlled FTHTTWT QULLY 61616667

a. 300 b.¥310 c.¥320 d. 325
Suppose C.1. for the first year =X 100. Then C.1. for the second year =¥ 105
Total compound interest for two years = (T 100 +3 105) =3 205
And simpie interest for two years = 2 x T {00 =T 200

If compound interest is T 205, simple interest = T 200

If compound interest is T 328, simple interest =T 328 x ;%g =320

A and B started a partnership business investing some amount in the ratio of

3 : 5. C joined then after six months with an amount equal to that of B. In what
proportion should the profit at the end of one year be distributed among A, B and C?
a.3:5:2 b.3:5:5

c.6:10:5 d. Data inadequate

A oBpib B g @meugpd Gafbgl 3 ;5 e aldsHHHe0 @ P L  OnTensamul
WHeSB QFUIgH @ LB THHBHMBH OCHTLRIGHSMT. QB OTHEIST HLH%H Ll B
QFVISFW OFTensHE Fwwomar OFTmdsmwF CFaishd, C  oleursepLer CaFiba CameTdmm.




Qb ouewih  (Whs e HoLsgd Seomusms A, B wpmid C sydlu  cpeumd  6lhs
aigpdHHle0 LMshaid Gameten GeuemiBLd?

a.3:5:2 b.3:5:5
c.6:10:5 d. syeyser GUIHIDTAIHTS B606M6V
Solution:

Let the initial investments of A and B be 3x and 5x.
A:B:C=0Bxx12): (5xx12): (5bxx6)=36:60:30=6:10:5.

18. A cistern 6m long and 4 m wide contains water up to a depth of 1 m 25 cm. The total area
of the wet surface is:

a. 49 m2 b. 50 m2 c. 53.5 m?2 d. 55 m2

6 15 pempd 4 15 SiBeoIpld GETmIL @b Oamiguisd 1 15 25 6FS o2 wIsIHB&s SHewiewi
o eitengl. AJU UGSHWlem GorsHsl uglieney:

a. 49 152 b. 50 16 2 c.53.5152 d. 55162

Area of the wet surface = [2(Ib + bh + |h) - Ib]
= 2(bh + Ih) + b

=[2(4%1.25 +6x1.25) + 6 x 4] m2

=49 m2.
1 1 1
19 (b-a) (c-a) + (a-b) (c-b) + (b—c) (a-c) — !
1+x + X 1+x + X 1+X + X
a.0 b.1 C.xa-b-c d. None of these
1 1 1
S B S APRN P ey S e o s e S
1+Xx + X 1+Xx + X 1+x +X
a. 0 b.1 c.xa-b-c d. ®aumbniled e1EIID Be0enev.
B
Explanation
1 1 1
Given Exp. = X8 x4 x3  xC| & xb  x8
1+ — + — 1+ — + — 1+ — + —
¥& yd 7 x9 ¥t xC
xa xb xC

= - + - + -
(xF+x%+ x5 xF+x"+x5 (xF+x7+ x5

_(xF+xP+x6

(x3 + x% 4+ x)
=1.

20. Which of the following is a pair of co - primes ?

a.(16, 62) b. (18, 25) c. (21, 35) d. (23, 92)
BIDHHWIL EDeN6eWIH6IM60 6lhSH Een6mT LIST SHTenlldenT@GLd?

a.(16, 62) b. (18, 25) c. (21, 35) d. (23, 92)




Answer: Option B
Explanation: H.C.F. of 18 and 25 is 1. So, they are co-primes.

21. A rectangular courtyard 3.78 metres long and 5.25 metres wide is to be paved exactly
with square tiles, all of the same size. What is the largest size of the tile which could be
used for the purpose ?

a. 14 cms b. 21 cms c. 42 cms d. 7 cms

3.78 16 men(pd, 525 15 oBe0pd OdmemiL h OFeleus augen allewenuim B emwgHTerd Gy
SlenallevTenr  FHT  ealged  @BdHeT  (mLeverd)  Odmewi(y  ByiuluL  Geuewi(hLd. BbhsH
CrTeasHBETHL LWETLGSHS (W9hd WSIOUTW QL IgeT $i6Ne] 6TalaralTs B(Hb@EHWb?

a. 14 Q&8 b. 21 Q&5 c. 42 Gz d. 7 Qg8

Explanation:

Largest size of the tile = H.C.F. of 378 cm and 525 cm = 21 cm.

22.1f a number x is 10% less than another number y and y is 10% more than 125, then x is
equal to:
a. 123.75 b. 140.55 c.143 d. 150
X 6B @@ 6wl Y eles BT eeament ol 1055HaiHlD GMBe| UG Y ueig 1258
alL 10 55aisD HHHD HYGWD. 616eled X 6T LI
a. 123.75 b. 140.55 c. 143 d. 150
Explanation:
y =125+ 10% of 125 =125 + 12.50 = 137.50.
x =137.50 - 10% of 137.50 - 13.75 = 123.75.

23.1f 20% of a = b, then b% of 20 is the same as :

a.4% of a b.5% of a
c.20% of a d. None of these
aer 20% =D eafled, 20 et b% BHBGHF FwowoTs B(HBGLD:
a.a e 4% b.aer 5%
c.aear 20% d. Baumpled e1gEIaO 06D
Explanation:
20% of =h =3 Ql — ,!'

o QT a = == l[lf]d 1,

) b . 20 1 _ o
Sob%of20 = (— +20) = ( a % 20 a = 4% of a.
100 100 100 100

24. What least number must be subtracted from each of the numbers 14, 17, 34 and 42 so that

the remainders may be proportional?

a.0 b.1 c.2 d.7

14, 17, 34 wpmpid 42 &lul eIleuT(h eewlanled @MHbHHID 6hFH @ WeF FPw eTewienenrd
B HHTEL BHWLSHGLD 6160wIH6IT @(H LMISTS 6U(HLD?

a.0 b.1 c.2 d.7




Answer: Option C
Explanation:
Let the required number be x. Then, (14 -x) : (17 -x) 2 (34 - %) @ (42 - x).

14 — = 31—z , . . Y \
<== (14 - x)(42 -x) = (17 - ®x)(34 - x)
1T —x 42 — =

<=2 X2 - 5bBx + 588 = %2 - 51x +57V8 <=> Sy =10 <=2 ¥ = 2.

.". Required number = 2.

Or
Choose from option if Ans is 2
(14-2), (17-2), (34-2), (42-2) =12:15 , 32:40
=4 :5 , 4 . 5

25.60 kg of an alloy A is mixed with 100 kg of alloy B. If alloy A has lead and tin in the ratio
3 : 2 and alloy B has tin and copper in the ratio 1 : 4, then the amount of tin in the new
alloy is :

a. 36 kg b. 44 kg c.53 kg d. 80 kg

A e @ 2 Boorad sevemauuisr 60 H, B eaip o Beuonsds sevemeuuiesr 100 &l o L et
H605SLILIBSBSI. A o Beourasd Hevedeuuied FUIPD SHBFWD 3 : 2 eeip  alFHHH60
BH6VHBHIGIT6IT6IN. B 2o BGoumasd sevemauuied SHEFUpD OFbyd 1 4 e aldHHhHe0
H6VbGI6eNe. 6TealleL, LS 2 Geundd Hevensuuled 2 66 HETHH6 SI6T6):

a. 36 84 b. 44 && c. 53 &4 d. 80 &

Explanation:

Quantity of tin in 60 kg of A = (60 * — Jkg = 24 kag.

[ e

1
Quantity of tin in 100 kg of B = (100 + — kg kg = 20 kag.
o

Quantity of tin in the new alloy = (24 + 20) kg = 44 kg.

26.The sum of two numbers is 40 and their product is 375. What will be the sum of their
reciprocals?
a.1/40 b. 8/75 c.75/4 d.75/8
Brewi® elewidaial amBHe0 40, euBplent OCUHIBBMBLeVET 375. SlUBBleT  HemevaL & eiTleot
F[BHHEV 6IINTH B(HHGLD?
a.1/40 b. 8/75 c.75/4 d.75/8
Answer: Option B
Explanation:
Let the numbers be x and v. Then, x + v = 40 and xy = 375.
T+ 40 8

ry 375 75

1
So—
x

@ | =




27. 2log,,5+log,, 8—%|og10 4="2
a.2 b. 4 c.1 d.0
Explanation:

1
2logip 5 +logio 8 - 5 logip 4

=l0g10(5%) + 10910 8 - logso (4'/2)
=logig 25 +logip0 8 - 10010 2

25 %8
=logof )

=logyg 100 = 2.

28.Murali’s present age is half of his father’s age. Before 10 years, his father’s age was thrice
his age. Find the present age of Murali and his father.

a. 16, 32 years b. 15, 30 years
c. 20, 40 years d. 17, 34 years
wrelwer  sBGuUTMHL g, DUGBMHLW  SHeoduler auHed LUTHWTGD. USHS
BB EHHEG (P, SHhmSUuler euwsTeardl, (wyefuller suwensls Gumed (LPLDLOL_BISTEH
BBheHSH. (Wyef BEpID Seugsl ShHmsuler SHBOLTMSW aIuLIgHenerd SIT6015b.
a. 16, 32 years b. 15, 30 years
c. 20, 40 years d. 17, 34 years
Explanation:
Murali Father

Now Ix 2x
Before 10 years 1 : 3

x-10 1
= =— = 3Xx—-30=2x-10 = x=20 years

2x-10 3
Murali's Age = 20 years Father’s Age = 40 years

29.The product of two numbers is 2028 and their H.C.F. is 13. The number of such pairs is :

a. 1 b.2 c.3 d. 4
Brewip elewideerr  OL(HHBBL6eVET 2028. SluBplest  WUGLMKH Outgl 6w eewl 13, @hs
BUbSHmaIsmen LiTHd GFuiud Cmmeseie elewienlldbmaes wimgl?
a. 1 b.2 c.3 d. 4

Explanation:
Let the numbers be 13a and 13b.

Then, 133 * 13b = 2028

== gh = 12. Now, co-primes with product 12 are (1, 12) and (3, 4).
So, the required numbers are (13 * 1, 13 * 12) and (13 *= 3, 13 = 4).
Clearly, there are 2 such pairs.

=}




30.1If 12 carpenters, working 6 hours a day, can make 460 chairs in 24 days, how many chairs
will 18 carpenters make in 36 days, each working 8 hours a day.
a. 1260 b. 1320 c. 920 d. 1380
12 H&5T®H6l @ BHievendd 6 el Gohyb eofsd 24 pTLH6T Geouemev OFulgk 460
BIBHTEIHMET 2 _(HeUTSHGSGSHBTTH6T 6lale0, 18 H&FFTH6N SHlempd 8 wewll Gryb Geuemev OFUISI
36 BTLH6M60 615HMET HIBHTEVHEN6NT 2 (HEUTHGHEUTTEH6I?

a. 1260 b. 1320 c. 920 d. 1380

Explanation:

Formulae: MO _MD.H, | 12x6x24_18x36x8 _ \\ a0,
W, W, 460 W,

31. A train covers a distance of 10 km in 12 minutes. If its speed is decreased by 5 km /hr,
the time taken by it to cover the same distance will be .

a. 10 min b. 11 min 20 sec

c. 13 min d. 13 min 20 sec

@@m @uuied 10 &l gnpdHms 12 pblLmseaied CapamnLdpa. Sis@mLuwl CoussHms
welldg 5 S aipb GHOBHIT0, CH HMTHMBHF OCFHIBDLMSBEG DI BICEY:NES)
Q®melEmHld SHTevLD

a. 10 phol_miseit b. 11 pidLmiseir 20 elermgHer

c. 13 piLmisei d. 13 Pl miseit 20 aflenmigserr

Explanation:

G0 ) )
Speed = (10 * T kem / hr =50 km / hr.

New speed = (50 - 5) km / hr = 45 km / hr.
10

.. Time taken = (—=Jhr
45

)
= (— * al)min
g

1
x 13_§ min = 13 min 20 sec.

32.LCM of (x+1)*(x—3) and (x* -9)(x+1)is.....

a. (xX* +1)(x*-9) b. (x+1)*(x*-9)
c. (x+1)*(x-3) d. (x=9)(x+1)
(x+1)*(x—3) wpupd  (X* —9)(x+1) &1 15.8.0. BIewis
a. (xX* +1)(x*-9) b. (x+1)*(x*-9)
c. (x+1)?*(x-3) d. (x=9)(x+1)
33,21 11 1 ..
22 22 2
a. an Arithmetic sequence b. an Arithmetic series

c. a Geometric series d. a geometric sequence




—l,l,—l,l,—l, ........... 6160TLIG)
22 22 2
a. &l B alpsHs) b. gal BSHOSHTLT
C. QUHBB6O GBHTLIT d. QuEpsg almsHs

A sequence a,, a,, d,,-++,a, -+ 1s called an arithmetic sequence if

a  =a+ d. n € N where d is a constant. Here a, 1s called the first term and

the constant 4 1s called the common difference. An arithmetic sequence 1is also

called an Arithmetic Progression (A.P.).

Defiiition
_-|.|||.'_.'.'I

LS

A sequence a,, a,, d,, -+, a, -+ is called a geometric sequence if

an +1

the constant » is called the common ratio. A geometric sequence 1s also called a

=a,r. ne N, where r is a non-zero constant. Here, a, 1s the first term and

Geometric Progression (G.P.).

An expression of addition of terms of a sequence 1s called a series.

S =a +a. +.++a,
1 1 2 n

F

A series 1s a geometric series if the terms of the series form a geometric sequence.

2 n—1 n . )
Let a, dr,ar -+, dr LAr e be a gEOlllETI‘]C sequence where r 7& 0 1s the common

ratio. We want to find the sum of the first n terms of this sequence.
2 n—1
LetS =a+ar+ar + - +ar

n

34.1f the first term of an A.P is 5 and its 100th term is 203. Find its 51st term

a. 95 b. 105 c. 115 d. 155
QM L (BHOSTLM6r (1pHe0 elewr.5, 1006ugkl elewt 203 elefled S5leugl olewiencwid &6l (BLIGHBH6LD.
a. 95 b. 105 c. 115 d. 155

Solution: a=5; t ,=a+(n-1)d
to =5+(99xd)=203 = 99xd =198 = d =2
t;, =5+(50x2) =105

35. The next number in the series is
3,10,24,52,108,......

Y - -




a. 230 b. 210 c.220 d. 240

3,10,24,52,108,...... aeip AT Med DIBHS 6T6wt
a. 230 b. 210 c. 220 d. 240
Explanation:

(3x2)+4=10 (10x2)+4=24 (24x2)+4 =52  (52x2)+4=108
Required: (108x2)+4 = 220

36.Six persons A, B, C, D, E and F are sitting in a row. B is between F and D, E is between A
and C. A is next to neither F nor D. C does not sit next to D. F is between which of the
following two persons?

a. A and C b. Cand B c.Cand D d. A and B

A, B, C, D, E uvppib F eudflwr eum putsenr euflengwns  siombgietenert. B ereueut F opmib
Désg BeLulsud E eeueam A oppid Céhg @enLuiaib Sioibgletenert. A ereilelT FoG@sm
wppib DéBsm 9ibHa 2 L smalsvenen. C-wneranm Dé@ SibhHaaHT1E iogaisvensy eleafled F
aeileUT 6lhd B(H BUTHEHHEG BewLuiled o e6itenmT?

a. A wppi C b. C wpgip B c.C oppp D d. A wBmib B
Explanation:
AECFBD or DBFCEA

37.Data on Coffee - Tea habits in percentages:

Male Female
Coffee 40 5
Tea 20 35
The percentage of tea drinkers among females is
a.5% b. 35% c. 40% d. 87.5%
&MU oBoID CHBT DHHSHID PSSHLD 2 _mL UIeITH6IT6T 6TauenlHend FHalHmIH6N6L:
1,601 et
&L 40 5
Gt 20 35
Cueniseiled CHBT DIMHBSHID UPSHBLD 2 L WeuTHeMear FHaisb
a.5% b. 35% c.40% d. 87.5%
Explanation: Total No.of Females = 40

No. of tea drinkers among females = 35

Required Percentage = % %100 =87.5%

38. Age in years: 10 - 20 20-30 30-40 40-50 50-60
No. of persons: 8 24 40 22 6
The relative frequency of persons belonging to the class interval 30 - 40 is
a. 0.60 b. 0.40 c. 40 d. 60
gl (euBLSHev) : 10 - 20 20-30 30-40 40-50 50-60
BUTH6T6T eTewIenibmae: 8 24 40 22 6

30 — 40 auly Bl Oeuell o eiten BUfle QHTLTL HleHLDOl6M6TTEITTETS]
a. 0.60 b. 0.40 c. 40 d. 60




Explanation:
Actual Frequency N 40
Total Frequency 100

=04

Relative Frequency =

39.One dimensional diagram representing statistical data are drawn on the basis of

a. Length b. Height c. Width d. Volume

yereiuiwied  sreysenen  alendb@GHld  @mewm  ufliomemr  ULBIGST  aHET  DlgliLienL_uiled
euenTWLIL(B &l aTment?

a. [5ermb b. 2_wigib C. 9IB6VID d. a1 syeney

Explanation:

In such diagrams, only one-dimensional measurement, i.e height is used and the width is
not considered.
Suwwengiumean uLmisaisd gy uforen  osney. SBTAUS
DISOD  BHBOULTOSY 2w (Habd) wiGw smsh uBEADS.

40. A kite is flying with a string of length 200m. If the thread makes an angle 30° with the
ground. Find the distance of the kite from the ground level. (Assume the string is along a
straight line)

a. 105m b. 50m c. 100m d. 100V3m

200 15 men(peitem  BEITUSIT60 @h SIBBIY SULUULG upbheH OCETenigmesSBal. DiHSH [HIT6L
S WLLSHSHIL 6T 30° CaHTewiHmsd gBLBSHHTeD STBBTY  HMILOL L SHHI(HHSH! 61616166
® WISHHL UBSIHBH 6T60Is HTewId.(DEIG BHIeL CHTCHTL 1960 2 6TeNSHTE H(HSHIH)

a. 105m b. 50m c.100m d. 100V3m

200 m

30

B

Let h be the height of the kite from the ground level.
In, A ABC, AC be the length of the string,

Given that £ CAB = 309 and AC = 200 m.

In the right angled triangle, A CAB

sin300 = h/200

2 1h =1/
~h=200/
~ h =100 m.

Hence the height of the kite from the ground level is 100 m.




41. The value of x is

3 -5 7
11 | 13 17
19 | x 29-
a. 25 b. 21 22  d.23
X 607 gL
a. 25 b. 21 c. 22 d. 23
Explanation:
Column I: 3+11=14+5=19
Column III: 7+17=24+5=29
Column II: 5+13=18+5=23

42.2A11,4D13, 12G17, ?
a. 36119 b. 48]21 c. 36J21 d. 48]23
The first numbers in the terms follow the sequence x 2, x 3, x 4.
The middle letter of each term is moved three steps forward to obtain the
corresponding letter of the next term.
The last numbers follow the sequence + 2, + 4, + 6.

43.In a certain code language, ORIENTAL is written as MBUOFJSP. How is COWARDLY
written in that code language?
a. XKCQBXPD b. XLBQCXPD
c. ZMESDPXB d. ZMESBXPD
om Jp8ss  Gumfuied, ORIENTAL eeid anidengdy MBUOFJSP,eeiim o)
aaluGBaH. BmapLiCUTeBa COWARDLY aianid aunitdhengenul er6ileumml LOmBmieumu’?

a. XKCQBXPD b. XLBQCXPD
c. ZMESDPXB d. ZMESBXPD
Explanation:

The letters of the word are written in a reverse order and then each letter is moved
one step forward to obtain the code. .

44.1f P denotes +, Q denotes x, R denotes + and S denotes -, then what is the value of 18 Q 12

P 4 R 5 S 6 = ?
a.53 b. 59 c. 63 d. 65
P areitugy + gquqib, Q eteiiuigl X ggujib, R etediug) + squyid, S eteiiug - @uib @pidb@id eteflen, 18
Q 12 P 4 R 5 S 6 6TGITLIZH GO LG eTeuTe0T?
a.53 b. 59 c. 63 d. 65

Explanation: Ans. A:
Using the correct symbols, we have:




Given expression =18 x12+4+5-6=18x3+5-6=54+5-6=59 - 6 =53.

45.A is elder to B while C and D are elder to E who lies between A and C.
If C be elder to B, Which one of the following statements is necessarily true?
a. A is elder to C b. Cis elder to D
c. Diselder to C d. Eis elderto B
A eaeueum Beow el cpdHeut. C wompid D @wnm E eow oL cpdsaiiser. E ereieut
A ppb C awgsd oLl Leamr. C eaguaT B &@ cpdhsalT eailed, SHbdbodemil
FBmIBeTe0 61gh Fflwimeng)?
a. A ereueut Cenwr el elpdhd et b. C eeeut Devwr el ewpdgeut
c. D eemuaut Cenws el elpdhg e d. E eemweur Beow alL cpdhspeir
Explanation:
In terms of age, we have :
B<A, E<C, E<D, B<C.
Since E lies between A and C, the sequence becomes :
B<A<E<C<D or BRKA<E<D<C.
Clearly, whichever may be the case, E is elder to B.
Hence, (d) is necessarily true.

46. Which of the following is false statement?
a. All kites are rhombuses.
b. All squares are thombuses and also rectangles
c. All squares are trapeziums.
d. All trapeziums are quadrilateral.
LNevTeu(HeUGTAUMBMIGT 6151 SHeUMBTET FnBml?
a. HIMAHG LILLBISEHD FTUIFSHITHIS6T
b. 16060 FHITEIBEHID FTUIFHITEIBET OBRID CF6lI6UBBIBENT.
C. 616060 FHITRIBEHID FileUBHIHeIT.
d. eteveor FReUBEIBEDHID [HTBBIHBIBET.
Explanation:
[All kites are rhombuses.
False. Since, all kites do not have equal sides.]
[All rhombuses are Kkites.
True. Since, all rhombuses have equal sides and diagonals bisect each other.]

47.In a playground, there are 43 students in the first row, 38 students in the second row, 33
students in the third row. There are 3 students in the last row. How many rows are there

in the playground?

a.3 b. 6 c.9 d.12

@ alememum’ (s HLeded (psHev euflenagulled 43 OTewiauTHEHD, @FewiLmbd  euflenguied 38
LOTEWIEUTHEHLD, cpeiipreugl euflenguisd 33 LOTEWIANTHEHLD, o 6ienenT.  HewL &  euflenguiled
3 wmewieuTae SIS, Obs aleenum Bdh Hieded eHHman alflendFoel 2 6lTerme?

a.3 b.6 c.9 d.12




Explanation:
a=43 d=38-43=-5 =3 n=?
t,=43+(n-1)(-5)=3 =43-5n+5=3 =5n=45 =n=9 Rows

48. Which one of the following is not true?
a. 42 is an irrational number
b. W17 is a irrational number
€. 0.10110011100011110...is an irrational number
d. 416 is an irrational number
LN6T6U(HEUGTAIMBMIGT 615 2 60I6nLOUIE60?
a. \/5@([5 Q&S H(LPWT 616001
b. 17 9@ eldsapmm e
c. 0.10110011100011110...9@% &G 6r6mT

d. {169m eldsupnr 6w

The Rational Numbers
A number of the form Ewhere p and q are integers and q # 0 is called a rational number.

aldappl eaemiser (Rational Numbers)

P, q wwssemse|d, q7F 0 eemeb Osrem(h EGI@M) augalled 6I(IPSHLILIBLD 6TewTH6T eyl

6160015 61T (GHLD.

Irrational numbers

Now let us consider decimal expansions which are non - terminating and non -
recurring.
Q&S SHUPDT 6T6RIH6IT:

WBEIIOUBTE Spemed OFHTLT eauflwswumm Haw alfleysemend &HHIGeuTLD.

416 =(2* )1/4 =2 or % g Form [Rational Number]

Hence, Option d is correct.

49.1In a family, the father took %4 th of the cake and he had 3 times as much as cake other
had. The total number of family members is
a.3 b.7 c. 10 d.12

RbH  GOBLUSIHeD FHHMD % UmG GCadma abhHHH OBTATHDBIT. euT 6bHHH D66y

LOBBeUTH6T  e6elbeuT(heueny GuTew 3 WLMIEG YGW. GHOBWUSHED o eilen GOTHS [HLITH6N 6T
elemTenflbend  WITg?

a.3 b.7 c. 10 d.12




Explanation

Let there be (x + 1) members. Then,

Father's share = i ghare of each other member = %
= o

E[i]=l = 4x =36 = x=29,
dx B

Hence, total number of family members = 10,

50. The number of horses on a farm is twice the number of ducks. The total number of foot
of ducks and horses counted together is 70. The number of ducks is

a.b b.7 c. 14 d. 35

QH  UewIeneTuled 2 66  (HHenTHee  6lemrienldbamd aITHHIH6N6T  eTewremnibendenuill  GuTev
&@m IOLEIG. AUTHHIH6T  OBWID  GHewrseier OoTHEH STeoseler elewienildmas  70.
QUTHHIFH6IT6H 616001601 H6NS 61631601 !

a.b b. 7 c.14 d. 35

Explanation:

Let, Ducks=x, Horses=2x
No.of Legs = (2xx4) + (x x2) =70
10x =70
x=7
No. of ducks =7




